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[ B ] Choose the correct : -

The simplest form of the imaginary number (i

(a)-1 (b) 1 (c)i

73

(d) -1

2021 Exam (7 ) Queslion (25)

The simplest form of the imaginary number i~ * = ..ccvcoeeee.
(a) i (b) —i (c) 1 (d)-1
2021 Exam { 6) Question (5)
(1 =)' = e
(a) —641i (b) 64 i (c)—-64 (d) 64
2021 Exam (7 ) Question (29)
The conjugate of the number (3 +V-4  FLp—
(a)-3-21 (b)3+2i (c)3-2i (d)-3+2i
2021 Exam(10) Question (15)
The conjugate of the number (2 + i)~ 158 sevorrensennes
(2) 2 +i (b)2-1 CE= @2
2021 Exam (4 ) Question (10)
Ifa=5+%3i !b=5—'43i sthen ab = «ovvvnennn
(a) 28 (b) 25 (c) 21 (d)7
2021 Exam (2 ) Question (1)
4 4
(ﬁ+ i) (’ﬁ-i) T
(a) 81 (b)9 (c)8l11i (d)9i
2021 Exam (8 ) Question (1)
T+ + (1 =i) =i
()0 (b) 8 (c)-8 (d)4

2021 Exam (3 ) Question(3)

The simplest form of the expression (1 + i)2 + (1= (1 +1)=2=rrmnnene

(2) 2 (b)-2 (c)2i

(d)-2i
2021 Exam (9 ) Question{3)
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If12+3ai=4b-27i sthen (a s b) = rwerreerreen

10 | (@) (4,3) (b) (3 +2.7) (€)(=9,3) (d)(9,3)
2021 Exam (5) Question (33)
IF2X-y+(X=2y)i=8+isthen (X sy) = e
11 | @@,3) (b)(3 5 1) ©)(=351) (d)(552)
2021 Exam (3 ) Question{4)
The simplest form of the number % IS coersnnnsnnnss
12 f (@) 1+i (b) 1-i (©-1-i @) —1+i
2021 Exam (8 ) Question (12)
Ifa+bi= Z-SI- i sthen (a s b) = veervernnnes
13 (a)(=25-1) ) (=251) (€)(2+=1) (d)(2s1)
2021 Exam (9 ) Question (8)
If(2+1)(3-5 ) =(X+ yi) sthen X 4+ y = soeveeeereenne
14 | ()4 (b)5 (©)6 d)7
2021 Exam (1) Question (32)
Ifa+bi= itl sthen a2 + b? = cvvveenn
15 | @1 (b)—1 (c) 2 (d)—i
2021 Exam ( 6 ) Question ( 27)
The roots of the equation : 2 X2_5X+3=0are eereeeeeens
16 (a) rational real (b) not real (c) real and equal (d) irrational real
2021 Exam (10) Question (35)
The roots of the equation : e zﬁx + 1 =0are e
17 (a) rational real. (b) not real. (c) real equal. (d) irrational real.
2021 Exam (7 ) Question (28)
The two roots of the equation : X + % = 12 where X2 0 are ----ceeeeeene
18 (a) real and equal. (b) real and different.
(c) complex and not real. (d) conjugate to each other.

2021 Exam (3 ) Question (6 )
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The solution set of the equation : X + 16 = 0 in the set of complex number is «--:-r--+-:

19 | @ {41} (b) {-41i} (c) {4i,-4i} (d) {4}
2021 Exam (1 ) Question (38)
If the curve of the function f : f (X)=X2—-6 X+ m doesn’t cut the X-axis s then m € w-eseereees
20 | () {9} (6) ]9 s o0 (c) ]-e 59[ (d) [9 seof
2021 Exam (9 ) Queslion(19)
In the opposite figure : )/
The curve of the functinnf:f(X)=x2—2x—3 —% 'l: DY N ) % (X
» then the solution set of the inequality X>—2 X—320 1 _:F [? ! _j;/- 1]
X ] %
INIR IS -eeemrerrenenns ™ 1_% P 2 ’5 4
21 (a) ]—1 23] P :"\ L
-3 —
(b) ] 52[ 4 \I/
(c) ]3 »o9] ¥y
(@ J-eo 5= 1JU[3 5 e
2021 Exam (10 ) Question (29)
The equation : x? (X—-1) (X+ 1) =0 of the «++-eeeeno. degree,
22 || (a) first (b) second (¢) third (d) fourth
2021 Exam (5) Queslion (26)
If the two roots of the equation : 4 X2 - 12 X + ¢ = 0 are real and equal 5 then ¢ = «---eveeeeeee
23 (@3 (b) 4 ©9 (d) 16
2021 Exam (7 ) Question (26)
If the two roots of the equation : X2+ (2k+3) X+ k?=0 are real and equal s then the
24 value of k = «-reeeennnees
3 _3 L _4
(@ 2 (b)- 3 © 3 (d)- %
2021 Exam (9 ) Question (1)
If the equation : X2 — 6 X + m = 0 has two equal real roots » then m = «---eeeeeeeees
25 |[[@7 (b) 8 (©)9 (d) 10
2021 Exam (2 ) Question(5)
26 If the two roots of the equation : a X% + b =0 are real and different s then «--eeseeeees

(a)ab>0 (bya=0 (c)a>0+b>0 (d)ab<0
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2021 Exam (4 ) Question(12)

If the two roots of the equation : 16 X> -8 X+ k=0 are complex and not real
y lhcn k E ...............

27
(@ ]1 5o () J-e= 5 1] () ]=eo 5= 1] (d)]-e0 s—1]
2021 Exam (3 ) Question(5)
If the two roots of the equation : (X - k)? + 4 X =0 are additive inverse to each other
then k = «eeeveseeeens
08 s then
(a) -2 (b) zero (c) 2 (d) 4
2021 Exam (1) Question (1)
If one of the two roots of the equation : X2~ (k + 2) X+ 3 =0 is the additive inverse of
56 the other root s then k = «+-eeeveeenens
(a) 3 (b) 2 (c)-2 (d)-3
2021 Exam (5 ) Question ( 22)
If one of the two roots of the equation : k X2 + (k- 1) X -3 =0 is the additive inverse of
30 the other root s then k = «--eoevveeas
(a) 3 (b)-3 (©1 (d)-1
2021 Exam (8 ) Question(3)
If one of the roots of the equation : (m - 3) X2 +5X+7=0isthe multiplicative inverse
of the other s then m = <o
31
(a) 10 (b)3 (c)8 (d)2
2021 Exam (2 ) Question (12)
If one of the roots of the equation : m X? - 3 X+ 1 =0 is multiplicative inverse of
the other s then m = «eeveesenenes
32
(a)-3 (b)-=1 (c) 1 (d)2
2021 Exam (1) Question (6 )
If the product of two roots of the equation : (k - 2) X*-6X+12=0is3
sthen k= «oeeeeeniannns
33

(a) 4 (b) 38 (c)6 (d) zero

2021 Exam (6 ) Question(31)
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The product of the roots of the equations : aX?+bX+c=0sbX%+cX+a=0
sC x2 +aX+b=0equals «oeeeeureeee

34
(a) abc (b)-1 (e)1 (d) zero
2021 Exam (4 ) Question (17)
If the sum of the two roots of the equation : a X2+ b X + ¢ = 0 equal the product of its
the roots sthen ¢ =« rererennenns
35 j
(a)—a (b)=b (c)a (db
2021 Exam (8 ) Question (11)
If X =5 is aroot of the equation : X2+mX=3m+1 sthen m=-ecrennne
36 | (2)-12 (b)7 ©% (@)=
2021 Exam (3 ) Question (1)
|If (3 + i) is one of the roots of the equation X2 + k X + 10 = 0 where the coefficient of its
terms are real numbers sthen k = --cooeveieeens
37 1 @e (b)-6 ©)9 (d)-9
2021 Exam (1) Question (27)
If 2 4 3 are the two roots of the equation : X2+aX+b=0 sthen (a > b) = eeeeesnnines
38 | (@)(213) (b) (5 »6) " (©(-55-6) (d) (=5 »6)
2021 Exam (10 ) Queslion (19)
|If the difference between the two roots of the equation : X>~7 X +a=0is 3 » then the
value of a = «ceeeererenens
39 | (4 (b) 2 (c)-4 (d)10
2021 Exam (3 ) Question(9)
Ifm 1% are the roots of the equation a X2+ b X+ 12 =0 s then a = cweeeeereeene
40 @3 (b)5 (c) 6 9
2021 Exam (4 ) Question (32)
If L » L2 are the roots of the equation : 2 X>+b X +54 =0 sthen b = revervenen.
41 [ (@-12 (b)-24 (©)6 (d9

2021 Exam (4 ) Question (18)
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If Land 5 - L are the roots nflhcequnlinn:x2+mx+6=0 sthen m = coevennnn

42 |@-=5 (b)5 (c)3 (d)7
2021 Exam (2 ) Question (8)
If the two roots of the equation : X%+ b X + ¢ =0 are two consecutive odd numbers
43 s then the value of the expression (b2 =4.C) = crrrrerrennnens
(a) 1 (b) 2 (c)3 (d)4
2021 Exam (9 ) Question (14)
If the two roots of the equation : 8 X? - k X + 3 = 0 are positive and the ratio between
44 themis 2 : 3 5 then the value of k = -+eeevveeeee
(a) 10 (b)-10 (c) 2 d)=3
4
2021 Exam (3 ) Question(7)
If one of the two roots of the equation : X* -9 X + ¢ =0 is twice the other root
45 ’ thenc=--ceeeennnns |
(a) 9 (b)-9 (c) 18 (d)-18
2021 Exam ( 8) Queslion(5)
If L » M are the two roots of the equation : X* +3 X =4 =0 s then LM = «rveneeeeen
46 | (a3 (b) -3 (c) 4 (d) -4
2021 Exam (7 ) Question (24 )
If L and M are the two roots of the equation : X2 +2 X+ 5=0 sthen L2 M? = «cocevvennens
47 | @ s (b) 10 (c) 25 d) 4
2021 Exam (10 ) Question (40)
If L and M are the two roots of the equation : X2 —4 X+ 2 =0 where L>M » then the
48 numerical value of (L2 + Mz) I ceersennnecnns
(a) 15 (b) 12 (©)9 (d) 16
2021 Exam (10 ) Question (20)
If L » M are the two roots of the equation : X+ 3 X+ 1 =0 » then the value of the
49 expression : L2+ 3 LM + M? = e

(a) 10 (b)-10 c)9 (d)-9
2021 Exam (9 ) Question (4)
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If L » M are two roots of the equation : X>-21 X+4=0 , thenﬁ#l_: ---------------

50 | (a)25 (b) 5 (c)-5 (d) x5
2021 Exam ( 5) Question{5)
If L and M are two roots of the equation : X2 - X -2 =0 where L>M
then 2L+ 5 M2 = ccvvevenranns
51 |’
(a) 10 (b) 5 ()9 (d) 11
2021 Exam (1) Question(21)
If L and M are the roots of the equation : X2—6X+2=0sthen L2 =6 L= cereeerenn
52 | (a)2 (b)-2 (c) 4 (d)3
2021 Exam (2 ) Question (7))
The quadratic equation whose terms coefficients are real numbers and one of its roots
1S (2 = 1) 0§ reveeevsnranes
53 (=)
(@) X2-4X+5=0 ) X*+4X-5=0 (c)X*-4X-5=0 (d)X*+4X+5=0
2021 Exam (10 ) Queslion (33 )
The quadratic equation whose two roots are (2 =3 1) 3 (2 4+ 3 i) i§ w-eeeeereees
54 (@) X2+4X+13=0 (b) X2-4X+13=0
() X*+4Xx-13=0 (d)X*-4X-13=0
2021 Exam (5 ) Question (20)
The quadratic equation which its two roots are the two dimensions of the rectangle its arca
12 cm? and its perimeter 14 cm. is «weoveveenns
55 | ()Xx%+7Xx+12=0 (b) X2-7X+12=0
(©)X?+12X+7=0 d)X2-12X+7=0
2021 Exam (9 ) Question (7)
If L and M are the two roots of the equation : X>—7 X+ 3 =0 » then the quadratic
equation whose roots are 3 L » 3 M is -oeeeeeeeee
56 | @X*-14x+12=0 b)X2+14X+12=0
(€)X2-21X+27=0 (dX*+14X-12=0

2021 Exam (3 ) Question(8)
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If L and M are the roots of the equation X2-3X=-5 sthenthe equation with roots L + 1
and M 4 1 i5 «eereeeennenns

57 -
WX2-9X+5=0 ()X2-5X+9=0 (c)X*-5X-3=0 (d)X?+3X+5=0
2021 Exam (1) Question(28)
If L and M are two roots of the equation : X2 5 X + 6 =0 » then the equation whose roots
areL-M 3 M =L i§ ---eeerereeeens
58 .,
(a) X24+1=0 (b) X2-1=0 () X2+25=0 (d)X*-x=0
2021 Exam (6) Question (29)
The sign of f : f (X) =—15 is positive at X & ----eeeeeeee
99 | (@) ]-ee5-5[ (b)]-5 s oo () J-o0 5 oo (d) @
2021 Exam (7 ) Question (32)
The function f : where f (X) = 2 is positive in the interval --cceeceuue.
60 [ (a)]-e52 (b)[-2,2] () ]- o0 50 (d) J-ee 5-2[
2021 Exam (6 ) Question (23)
The function f : [— 3, 8] — R where f (X) =8 —2 X is positive in the interval «..cvueeee
61 |l @[-3,4] (b) [-4 »4] ©1-3,4 (d)]-2,2]
2021 Exam (6 ) Question (33)
The function f : f (X) =7 - X is not negative where :
62 | ()x27 (b) X>7 (€)X=s7 (d) X=17
2021 Exam (B ) Question (7))
If[-3 y2] —=[R » f (X) =3 X + 6 » then the sign of the function f is negative in
the interval «-.oeeeeeeee
63
(@) ]-2 5[ (b) [-3,-2] (©) J-eos-2[ (@ [-2,2]
2021 Exam (3 ) Question (10)
The sign of f : f (X) =— X is negative at ----oreeeeeeee
64 [ (a)x>-1 (b) X<-1 (c)X>0 (d)X<0
2021 Exam (10 ) Question (17)
- The sign of the function f : f (X) = 8 — 4 X is not positive when «.eeeveee

(a) X=2 (b)X>2 (c) X<2 (d)X=<2
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2021 Exam (9 ) Question (18)

If the sign of f (X) =k X - 10 is positive on the interval 15 seq]
and nagative on the interval ]- oo 5 5[ 5 then k = --reveeeeesseee

66
(a) 5 (b)-2 (c) 2 (d)-10
2021 Exam (1) Question(2)
If £ (X) = X2 + 9 » then the solution set of the inequality f (X) <0 in R is weoeerveenees
67 | (a){-3,3} (5)]3 s oo (c)]-e= 53] (d) @
2021 Exam (1) Question (36)
The function f: f (X)=(3 -X)%is positive for all X € vevvvienens
68 | (a)]3 509 () J-ee 53| (c)R-{3} (d)]-353[
2021 Exam ( B) Question (8)
The function f : f (X) =—(X-1) (X + 2) is positive in the interval «-.ocoeeenee
69 |(]1,2[ b [-1,2] ©J-251] (d) ]-e0 5 oo
2021 Exam (4 ) Question (25)
Iflhefunctionf:f(x)=ax2+bx+canda<0andlhcl\vomotsol'mcequalionf(}a:()
20 are 2 y— 5 s then the function f is positive in ««.ooeeeeee
(a){-5,2} b)R-]-5,2[ (©]-512[ d)[-5,2]
2021 Exam (10 ) Question (9)
Ifthcfunclionf:f(JC):ax2+bx+c sa>0and the tworoots of f (X)=0are2 y-5
71 s then the function f is positive in «eeeenees
(@) {-5,2} b)R-]-5,2[ ©]-5,2] (dR-[-5,2]
2021 Exam (3 ) Question {11)
Which of the following functions is positive for all values of X ER :
. @ f:f0=x>+4 () £:f (0 =(X-1)*+9
©f:f(X)=3 (d) all of (@) » (b) » (c)
2021 Exam (4 ) Question (29)
The function f :  (X) = X% - 9 is negative at X € eereeeeres
73 [|@R-[-3,3] (]-3,3] (c) ]-ee5-9[ (d) ]-e0 53]

2021 Exam (10 ) Question (6 )
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The function f where f (X) = (X - 1) (X + 3) is negative in the interval - -seeee

@]-3,1] ) ]-1,3 ©[-3,-1] (d)]-3,3[
2021 Exam (6 ) Question (22)

If L s M are the two roots of the equation : a X*+b X +c=0wherea>0,L<M

» then the solution set of the inequality : a b G B R | ST

(a) J-eo 5 L[ (b) L s M[ (c) IM 5 o0 (d) R=[L > M]
2021 Exam (7 ) Question (30)

|'The function which has a positive sign in R — {2} is f (X) = oeeevieeeen
() (X=-2)(X+2) (b)X*-4X+4 (c)X-2 (d) (X +2)*

2021 Exam (1) Queslion(7)

If the discriminant of the equation : a X? + b X + ¢ =0 is negative » then the solution set of

the inequality : a X*>+b X +¢ <0 s where 2 <0 in R is -werereeeeees
(a) R (b) @ (c) R* (d) R~

2021 Exam ( 5) Question (15)

The two functions f: £ (X)=(X—-1) (X+2)and g: g (X) =— X2 + 9 are positive together
when X E veevereraenne

(@ ]1-3[U]-3,-2[ (b ]-2,0[
(€)]3 seo[ U]-e»-3[ ) ]-3,3[

2021 Exam (5) Question(18)

If(y—4)>=36 sy <0 sthen y + 4 = cecuvvvrvnnes

(a)-2 (b) 2 (c) 10 (d) 14
2021 Exam (4 ) Question (1)

Which of the following does not belong to the solution set of the inequality :
3X-524Xx-37
(a) -1 (b) -2 (c)-3 (d)-5

2021 Exam (5) Question (13)

The solution set of the inequality : X224 X + 21 in IR is w-rreeeeeeeeees
() [-3,7] bR-]-3,7[ ©R-{-3,7} (d) {7}

2021 Exam (8 ) Question(9)
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S.S. of the inequality : 9 = X2 2 0 s =vvvveeeeees

82 [(@]-3,3[ (b) [-3 3] (c)R-]-3,3[ (dR-[-3,3]
2021 Exam (2 ) Question(10)
The solution set of the inequality : 4 X - X2 =4 <0 IR s coorsereseeens
83 (R (b) R* ()R dR-{2}
2021 Exam (5) Question (40)
The solution set of the inequality : X (X +3) <0 in R is «+-eveeevenee
84 | (a){0,-3} (b)]-3 2] () [-3,0] (d)]-3,0[
2021 Exam ( 6 ) Question(19)
The solution set of the inequality : (X =3) (X—4) >0 in R is reeeveeeens
85 | (@ {3,4} (b) 3 »4] () [3 4] (d)R-[3,4]
2021 Exam (3 ) Question (12)
The solution set of the inequality : = X (X +2) 2 0 in IR is «evesverenns
86 | (a){0,-2} (b) [-2,0] (©)]-2,0[ (d)[-2,2]
2021 Exam (4 ) Question(31)
The solution set of the inequality : (2 X = 3)?> = 5 in IR i w-eeeeeeeeees
87 | @ (b) R* R dR
2021 Exam (9 ) Question (10)
In the opposite figure :
The curve of the function f: f ) =X*-2X-3
» then the solution set of the inequality xX2-2Xx-320 "
X X
INIR S ereremesenes
88 [ (@]-1,3[
(0) J-e=52[
(©) ]3 50 ;

(d) Jreos—1JU[3 509]

2021 Exam (10 ) Question (29 )
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The angle of measure 2109° lies in the «-eeeeene quadrant.
89 | (a)first (b) second (c) third (d) fourth
2021 Exam (3) Question (13)
The angle whose measure is (— 850°) lies in the -----.e.e.. quadrant,
90 | (a) first (b) second (c) third (d) fourth
2021 Exam (6 ) Question (14)
The angle whose measure is 600° in the standard position is equivalent to the angle of
91 MEASULE ----remereeeess®
(a) 120 (b) 240 (c) 300 (d) 420
2021 Exam (10) Question (2)
The angle whose measure is 120° in the standard position is equivalent to the angle of
measure sesssmssEREEbeE
92
(a) 420° (b) 240° (c) - 300° (d) — 240°
2021 Exam (8 ) Question (33)
All the angles of the following measures lies in the second quadrant except «-:-seesees
93 | (a)-240° (b) — 120° (c) 100° (d) 860°
2021 Exam (4 ) Question(4)
The degree measure of the angle of measure ’%“: IS seenesannninas
94 | (a) 105 (b) 210° (c) 420° (d) 840°
2021 Exam (8 ) Queslion (35)
The angle of measure — in lies in the «seeerennn quadrant.
95 | (a) first (b) second (c) third (d) fourth
2021 Exam (10 ) Question (27 )
The radian measure of the central angle opposite to an arc of length 6 cm. in a circle of
diameter length 12 cm. is ----eeeeeeeens
96

@ ()™ (b) (1) (©) (3™ (@ (o™

2021 Exam (2 ) Question (13)
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A radian and degree measure of a central angle subtends an arc whose length 3 cm. in
2

a circle whose surface area is 16 7T cm? = «vvvvvnnnn PRITITIS
97 | @ 1™,180° (b) 1.5, 86°
(c) 1.75"4 , 90° (d) 0.75™ ,42° 58
2021 Exam (5) Question(3)
The arc of length 5 7T cm. in a circle with radius length 15 cm. is opposite to central angle
of measure -« eseeeeerene o
98
(a) 30 (b) 60 (c)90 (d) 180
2021 Exam (4 ) Question(2)
The arc length in a circle of radius 6 cm. s opposite to central angle of measure %
99 IS +ssessneisasss
(@2 (b)27T () 2% (d)3 70
2021 Exam (7 ) Question (33)
In a circle of diameter length 24 cm. the length of the arc subtended by a central angle of
measure 30° equals «--oeeeeeeeee CmLL
100 (a)27T (b)3 T (c)4 1T (d) X
2021 Exam (6 ) Question (15)
The string length of a simple pendulum is 14 cm. swings in an angle of measure %
s then its arc length = ««ervveeeeeee cm,
101
(a)44 (b)4.6 (c)4.8 (d)4.9
2021 Exam (4 ) Question (20)
The central angle with measure 120° and includes an arc with length { cm. in a circle with
radius 6 cm. 5 then { = - €,
102
(a) 12.57 (b) 10 (c) 1254 (d) 1.254
2021 Exam (1) Question(11)
If the length of an arc in a circle equals %’ of its circumference » then the measure of
the central angle subtending to this arc in degrees equals «.eeeseeeeee
103

(a) 30° (b) 67° 30 (c) 225° (d) 240°

2021 Exam (3 ) Question(14)
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In the opposite figure :
0™ =
110 | @ 1.5™ (b) 1.012™ f
(c) 2™ (d) 3™ A
Sem.
2021 Exam( 10) Question (39)
If sec 3 8 = 2 where 0 is an acute angle s then 8 = «---eeeeeeeen®
111 [ @10 (b) 15 (c) 20 (d)30
2021 Exam (7 ) Question (38)
If sinB=- % scos 0= ji—B_ sthen B = ceeiieneinn®
112
(a) 30 (b) 150 (c) 210 (d) 330
2021 Exam (7 ) Question (39)
If sin@=-1 scos 8 =0 » then the measure of angle B = ---eereveee
113 |@ % OF OE (d) 270
2021 Exam (6 ) Question (4)
If the terminal side of angle 0 in its standard position cut the unit circle at the
114 point (—g ) y) where y ER* sthen 0 = - voeveeveen®
(a) 30 (b) 150 (c) 210 (d) 330
2021 Exam (9) Question (20)
If the terminal side of the angle 0 in its standard position » cuts the unit circle at point
(% ’ y) where y >0 3 then tan (B) = rssssasassssss
115 4 3 5
(@) 3 b) OF (d)1
2021 Exam (1) Question(12)
in L cos L = an2 L 2 T
[lfonTcosT_ tan® - +cos” 3 s then X
116 | () 12 b) 2 () 2 @=L
2 2 g T
2021 Exam (3 ) Question (15)
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=3
Ifcoso= 5 290° <0< 180° »5sin 0L+ 3 tan oL = ceeeveerenes
M7 1@o (b) 1 (©)-1 (d)2
2021 Exam (2 ) Question (20)
Ife E]— . J’t[ »5in B = 'ﬁ s then the value of : 1an 0 cot B + €Os> B = «ererereens
118 194 25 169
@) 155 I69 ®) 159 (©) 13 @35
2021 Exam (3 ) Question (16)
If sin (6 + 10°) = % where 6 E]D“ ) %[ sthen m (£ 0) = wvveeeeeeens
119 | (@) 20° (b) 60° (c) 90° (d) 180°
2021 Exam (8 ) Question (37)
If cos? 6 = —2% where 90° < 0 < 180° s then the value of : 25sin @ +4 cot B = «-vevvevienns
120 | (@)23 (b) 17 ()= 17 (d)—23
2021 Exam (3 ) Question (20)
cos (_ 30”) R T
3 2 3
121 || @ -ﬁ (b) - = (c) T;' (d) =N
2021 Exam (8 ) Question (39)
tan 495° =
2 !
122 |(a) 1 (b)y—1 () 5~ d) 5
2021 Exam (1) Question (17)
tan 65° _ - .
cot 25°
123 | @)1 (b)2 © < (d)3
2021 Exam (2 ) Question (17)
If © is a positive acute angle » s:n(::i(—-:{;::) =1 sthen B = roeienn °
124 | (2)40 (b) 50 (©) 10 (d) 70
2021 Exam (1) Question (26)
sin 56° o &
o5 34° + tan 35° cot 35° =
L (a)-2 (b) zero (c) 1 (d) 2
2021 Exam (9) Queslion(6)
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The simplest form of the expression : cos (180° + 8) + sin (90° + 0) = «-eeevereenn

126 | (a)2sin B (b) 2 cos © (c) 2 (d) zero

2021 Exam (9 ) Question (2)

2 sin (360° — 0) + 3 sin (= 0) + 6 cos (270° + B) = «-reeveeeenee
127 | (a) zero (b) 7 sin 6 (c)11sin® (d) sin ©
2021 Exam (9 ) Question(11)

Tan (180° + 6) X cot B = evvenininen
128 | (a) zero (b)-1 (c)cot © (d) 1

2021 Exam (10 ) Queslion ( 34)

In a right-angled triangle » measure of one of its acute angles is X°® where sin X = %-
s then cos (90° = X°) = wevrnnsnnns

129
a) 3. =3 =4 4
(@) 3 (b) 5 (c) 5 (d) 5
2021 Exam (5) Question (12)
IfA+B=90°and tan A= % sthentan B = «ecviiinienns
130 | (a) % (b) % () 1 (d) 3
2021 Exam (4 ) Question (8)
The value of 8 where 0 < 8 < 90° which satisfies : tan (8 + 20°) = cot (3 8 + 30°) from the
fo“o\ving 1§ cssusussasossss
131
(a) 40 (b) 10 (c) 90 (d) 50
2021 Exam ( 7 ) Question ( 36 )
Ifsin30=cos 66 ,0°<0<90° 5then B = --eeevvevenee
132 | (a) 10° (b) 15° (c) 20° (d) 25°
2021 Exam (2 ) Question (19)
If sin (3 6 — 25°) =cos (2 8 — 35°) y where 0° < 0 < 45°
s then the value of sin (180° — 0) = «-eeeeeeiveeee
133

:

(@) + RS © 1 @-4

2021 Exam (9 ) Question {9)
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If sin 2 © = cos 0 » then the general solution of the equation = «-weveeeeene

134 (a)%+%nnon]y (b)%+2:ﬂlnunly
(c) (a) s (b) together. (d) nothing of the previous.
2021 Exam (10 ) Question (25)
If tan (180° + 5 6) + tan (270° + 4 6) =0 where 8 €]0 » T s then m (£ 6) = vvvve®
135 | (a) 10 (b) 20 (c) 60 (d) 45

2021 Exam (5) Question (9)

If cos (270° - 0) = =L where @ is the measure of the smallest positive angle

2
sthen B = cereereennns °
136
|(a) 30 (b) 150 (c) 210 (d) 330
2021 Exam (3 ) Question (17 )
The terminal side of angle 0 in standard position intersects the unit circle at point B (% ’ %)
s then the value of the expression sin (90° + 8) + cot (180° + 8) cos (90° + 0) = «weeevrennne
1ar, S 8 4
(a) zero OF OF: @) %
2021 Exam ( 10) Question ( 37)
IfsinB= % » B is positive acute angle » then value of : sin (180° — 0) sin (90° + 8) = «+seeveernes
12 _ 12 9 16
138 | (a) 75 (b 55 (c) 75 (d) 5

2021 Exam (2 ) Question (18)

If f (X) =cos 6 0 5 then the range of the function is «-eoveeeee
139 1 @) [-6,6] ®) [-151] © [1+6] @ ]-151]

2021 Exam (3 ) Question(19)

Range of the function f where f (8) = -%- Sin 3 0 s «-oeeveeennne
10l w[-3.4]  ®[F2,2 ©[-2,32] @ [-3,3]

2021 Exam (2 ) Question (16)

The range of the function f : f (X) =3 sin 2 X is «eoeeneennns
141 | (@) [-2,2] () ]-2 52 © [-3,3] ) ]-3 53]

2021 Exam (7 ) Question (34 )
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The range of the function f : f (X) =3 sin 0 where TT< B < 2 TTis «+evvveeneene

142 | (2)[-3 ,3] () [-3 50] (©)[053] DR
2021 Exam (9 ) Question(15)

If the range of the function f : f (X) = a sin (X) where XE[0 2] is[- 5 » 5]

sthena & vevvevveenens
143
(a) {5} (b) {-5} (©)]-55[ (d) {-5»5}
2021 Exam (1) Question (37 )
If © = sin~ ! 0.6 where 0 is the measure of the smallest positive angle s then 0 = «voeeeeeee
144 | (2) 36° 52 (b) 52° 36 (c) 120° 33 (d) 40° 15
2021 Exam (6 ) Question (10)
If the lengths of two corresponding sides of two similar triangles are 7 cm. » 11 cm.
» then the ratio between their perimeters is «veeeeeeee
jal PAY ) (b) & ()% (@ 4L
Y121 18 11 18
2021 Exam (4 ) Question (15)
If k is the similarity factor of polygon P, to polygon P, and 0 <k < I s then the polygon
P s s to polygon P
146 | ' 2
(a) congruent (b) an enlargement (c) a shrinking (d) twice the area

2021 Exam (4 ) Question (5)

If polygon m, is minimize of polygon m, » with scale factork » then «-ecceeveee

147 | @) k> 1 b k<1 ©k=1 (d)0<k<1
2021 Exam (9 ) Question (39)

The rhombus in which measure of one of its angles 70° is similar to the rhombus which
measure of one of its angles = «+-oeeeenees

148
(a) 100° (b) 110° (c) 120° (d) 130°
2021 Exam (8 ) Question(15)
The polygon ABCD ~ the polygon XYZL s AB=32cm. sBC=40cm. s XY=3m-1
1»YZ =3 m+ 1 5then the numerical value of m = «-ereeenee
149
(a)3 (b) 4 ()5 (d) 6

2021 Exam (5) Question ( 36 )
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Two regular pentagon polygons the side length of the first =5 cm. and the perimeter
of the second = 30 cm. s then the ratio between side length of the first : the side length
150 of the second = ++sesevernens
(a)1:6 (b)1:2 (c)1:5 (d)5:6
2021 Exam (8 ) Question (16)
Two similar rectangles » the length of the first is three times its width , if the length of the
151 second 12 cm. 4 then its width = «.csveveeeee cm.
(a)2 (b)3 (©)4 (d)6
2021 Exam (8 ) Question (32)
The dimensions of a rectangle are 10 cm. » 6 cm. if the scale factor equals 3 3 then the
152 perimeter of another of rectangle similar to it = «oeevvvenens cm.
(a) 96 (b) 69 (c) 15 (d) 30
2021 Exam (10 ) Question(4)
All --eeeeveeeeee are similar.
153 | (a) triangles (b) rectangles (c) squares (d) parallelograms
2021 Exam ( 7 ) Question (6)
If the polygon ABCD ~ polygon XYZL s then AB X ZL = XY X -eeveeenens
154 | (a) ZL (b) AC (c) BC (d)CD
2021 Exam (6 ) Question (1)
Which of the following polygons are similar ?
155
" [ :
(1 (2) (3) (4)
(a) Polygons (1) »(2) (b) Polygons (1) 5 (3)
(c) Polygons (1) »(4) (d) Polygons (3) » (4)
2021 Exam {3 ) Question(38)
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Which of the following two polygons are similar ?
156 :
(1) (2) (3) (4)
(a) polygons (1) 5 (2) (b) polygons (3) » (1)
(c) polygons (3) » (4) (d) polygons (2) 5 (4)
2021 Exam (10) Question (1)
In the opposite figure : 10cm. A
If ABCD ~ XYZL » the perimeter of /——_\\
the figure XYZL =26 cm. sAD =10 cm. /_\
157 AD
»BC=22cm. ;AB=AD=DC , then 37 = weeeeeee
(a)1:2 (b)2:3 (c)3:4 (d)2:1
2021 Exam (8 ) Question(14)
In the opposite figure : D A
If AD // XY // BC s AX = YC » XB =8 cm. %{:\_\x\
DY =2 cm. s then AX = eeeeeseenees M. 3
158 ’ cm. s heEn & )
(a)2 (b)4
(c) 16 (d)8
2021 Exam (8 ) Queslion (23)
In th :
n the opposite figure 5 i
AD//XY//BCyAX:XB=2:3 Y/ \x
CD —_— s T i
159 | ° 15 cm. s then DY cm / \
(2) 3 (b) 4 c B
(©5 (d) 6
2021 Exam (9 ) Question (34)
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Which two triangles of the following are similar ?
§
160
L
Bem.
(1 (2) (3) 4)
(a) AA (1) +(2) (b) AA (2) »(3) (c) AA (3) +(4) (d) AA (1) »(4)
2021 Exam (8) Question(13)
IfAABC~AXYZ sand 2 AB =3 XY » then the perimeter of A ABC : the perimeter
. Of A XYZ = coooverereneene
161
(a)4:9 (b)9:4 (€)2:3 (d)3:2
2021 Exam (9 ) Question (28)
A triangle in which two angles are of measures 50° » 70° is similar to a triangle in which
two angles are measures 50° 5 -eeeeeeeenes®
162
(a) 60 (b) 80 (c) 55 (d) 40
2021 Exam (5 ) Question(24)
In the opposite figure :
A ABC is right-angled at A
sthen BC = ovevinnnn cm.
163
(a) 15 (b) 20
(c) 13 (d) 21
2021 Exam (2 ) Question (27)
In the opposite figure :
A ABC ~ A ADE 5 then the value of X = «eveeneen. //’Te‘
164 | (a) 11 (b) 1 i iaen %
E A (2X+3)cm. B
(©) 12 ()10 - ,ig‘/
2021 Exam (3 ) Question(21)
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In the opposite figure :
m (£ AHD)=m (£ ABC) yAD=5cm.
sAH=4cm. s HC =6 cm. s then DB = «evvevneene
i (@) 5 (b) 4
(c)3 (d) 8
2021 Exam {1 ) Question {39)
In the opposite figure : A
AABC~AAHDandifm(4£B)=3 X+ 10°
and m (£ AHD) = X+ 30° sthen m (£ A) = eeeeeeeenens” D
166
(a) 50 (b) 40 H
(c)30 (d) 60 £ :
2021 Exam (4 ) Question (6)
In the opposite figure :
X _i_d-“ S
167 | () 3 ® 5
16 9 C l6em. D 9cm. B
OF @ 15
2021 Exam (10 ) Question (16)
In the opposite figure :
ABC is a right-angled triangle at A s AD L BC P
| ]_h = sssssssssssssss i 0'5
468 |’ en AD cm
' (a) 18 (b) 25
| C 16m. D B
(c) 12 (d) 20
2021 Exam ( 3 ) Question (22)
| In the opposite figure : A
X = ceeevernnneens M. LE
169 | (2)6 ()7 iy

()5 (d)8 C (X+hem. D(X-1)em.B

2021 Exam (2 ) Question (38)
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In the opposite figure :
IFEB=6cm.sCD=8cm. sAC=10cm.
170 yAE=2cm. s DB =4 cm. sthen ED = -oevveeeveeee cm,
(a) 2 (b) 4
(c)3 (@) 5 C D 4en. B
I 2021 Exam ( 6) Question (3)
In the opposite figure : n e
AD=4cm.;CH=16cm.AB=6cm. sDC=8cm.
HD — T T LI T T T Ty d
171 s then ﬁE'— A
(a) -%— (b) % C 16cm. H
2 ]
© 35 (d) 7]
2021 Exam ( 5) Question (7))
In the opposite figure ;
Ifm(£BAC)=m (£ D) sAB=6cm. N
3
DC=5 cm. ey -
172 | : cm. s then BC cm
(a) (b)9 D Sem. C B
() 10 (d) 4
In the opposite figure :
AABC~ACDH ,BC= 1 DH
then X X ¥ = ceecrnnrnnannns
173 | Z
(a) 3 (b) 6
(c)8 (d) 10
2021 Exam (1) Queslion (13)
If the ratio between the length of two corresponding sides of two similar polygons 3 : 5
74 » then the area of greatest polygon = ---.-........ the area of the smallest polygon.
9 2 3 5
) 75 (b) %5 (©) 3 @ 3
2021 Exam (9 ) Question ( 22)
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In the opposite figure :
The area of the smaller triangle _ woweeoeeee /0‘{%
The n;cu of the greater triangle ~ «weeeeeeeese I .
2 1 .
1?5 (ﬂ') 81 (h) 3 qf_@
5 16 2
OF @ &
2021 Exam (B8 ) Question (22)
The ratio between perimeter of two similar polygons is 4 : 9 » then the ratio between their
ATCAS IS weorererrrasans
176
| (a)4:9 (b)9:4 (c) 16 : 81 (d)2:3
| 2021 Exam (2 ) Question (23)
e area DI'& LLIN — sEssmssEmsamEmw
IFAABC~ALMN and AB=2LM , then s of AABC ~
177 | oy L 1
(@) 1 (b)2 () % (d) 4
2021 Exam (5) Question (10)
Two similar triangles » its areas 13 cm?and 52 cm? 5 then the ratio between the lengths of
two corresponding sides is ««eereeeee
178 CHE
(a)1:4 (by1:2 (c)1:5 (d)2:1
2021 Exam (B ) Question (30)
Two similar polygons » the ratio between their areas is 4 : 25 » then the ratio between their
peﬁmc[crs IS sosrnrnsarnnnns
179
(a)2:5 (b)5:2 (c)4:5 (d)8:50
2021 Exam (1) Question (29)
If the ratio between the lengths of the diagonals of two squares is 2 : 5 and the area of the
180 smaller square is 4 cm? » then the area of the greater square = - cm?
(a) 25 (b) 16 (c) 10 (d) 20
2021 Exam (4 ) Question (16)
A piece of land of the shape of rectangle its dimensions are 6 m. » 9 m. If we want to double
its area by increasing each of the two dimensions by the same value » then the added value
181 cqua]s — |
(a) 3 (b)5 (c)7 (d)9
2021 Exam (4 ) Question (11)
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The ratio between the length of diameters of two circles is 3 : 5 » if the area of greater

circle = 75 cm? » then the area of smaller circle = s cm?

(a) 81 (b) 27 (c) 25 (d) 125
2021 Exam (8 ) Question(19)

182

In the opposite figure :

ABNCD={E} »a (A ACE) = 100 cm?

sthen a (A DEB) = «veveeeveee cm®

% 1296 (b) 1080
(c) 750 (d) 400

183

In the opposite figure :

BEFIEE={A} sAE=9 cm.
yAB=10cm. sAC=15cm. s DA=6cm.
sarea (A ADE) = 36 cm?

s then area (A ABC) = ++wvveevveveves CIZ

184

(a) 60 (b) 75
(c) 100 (d) 225

2021 Exam (9 ) Question (36)

In the opposite figure :

If the area of the smaller

triangle = 16 cm? 5 then the area of
185 | the greater triangle = - cm

(a) 32 (b) 8

(c) 64 (d) 24

2021 Exam (8 ) Question (18)

In the opposite figure : A

IFED// BA s BE=6cm. s EC=4cm.

» the area of the figure ABED = 42 cm?

186 AN

» then the area of A CED = -+ > C d4em. E 6em.

(2) 16 (b) 10 (c)8 (d) 20

2021 Exam (6 ) Question (30)

=
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In the opposite figure : ]

M is a centre of semicircle v

M
192 ,[hcn x:....."..uuh cm.

(@)5 (b) 7 (c)8 (d) 12
2021 Exam (7)) Question (10)

In the opposite figure :
IfABNAD={A},ED=10cm.
193 yAC=9cm.»CB=7cm.

s then the value of X = «eocoveeeees cm.

@35 (b) 6 (©7

In the opposite figure :
If the length of the radius of a circle of center M is 6 cm.
sCD=3cm.sm(£LA)=m(£L M) sAM=6cm.

194
sthen CB = ---evemeeeeee om.

(2)3 (b) 4 (c)5 (d)6

2021 Exam ( 6 ) Question (37)

In the opposite figure :

If CD = BM » then the circumference of

the circle M = «ooeeevveeee cm,

(a)157C (b) 18 7T
(c)20 T (d)24 7t

195

In the opposite lgure :

x = sesssnanssnnnes CIM.

196 [ (2)6 (b)5

(c)4 (d)3

2021 Exam (3 ) Question (27
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202

In the opposite figure :

AD !-A_ﬁ two tangents at D » B
» CH cuts the circle at H s D A
s then AC = AD = «eeeevveeneee €,

@Y7 ) 297 (©) 397 ) 647

ifCH=3cm.»HD =18 cm. B—t4

2021 Exam (4 ) Question (24)

203

ABisa tangent to circle M at B
»m (BX)=m (XY) sBD=213 cm. X
sAD = 4ﬁcm. sthen AY = weeveeeeinnens cm.

In the opposite figure : A

(a)3 (b) 6 w

(c)9 (d) 12

2021 Exam (9 ) Question (40)

204

In the opposite figure :

ABisa tangent to the circle at B

+yAE=FD sEF=6cm. »CF=2cm.

sy XF=9cm. sthen AB = «oevveveeees cm,

(2)3 (b)6
(©)9 (d) 12

205

In the opposite figure :
A unit circle M and AB is a tangent to the circle at B

—_— o). S
yCD L MB sthenC—D—

(a) sec © (b) cos 6
(c)tan © (d) cosec 8

2021 Exam (5 ) Question (16)
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211

| In the opposite figure :

A
All of the following geometrical relations are correct except :
AD _ AE AD _ DE : .
) DB = EC ®) B =8C
AD _ AE BD _ CE = B
(©)AB =AC @Ba=ta

In the opposite figure :
AB//CD yAM =25cm, sBM=2cm. s MD =6 cm.

b] lhcn X = cesssiniiienne oM.

212

(a) 3.6 (b) 4

(c)4.2 (d)4.8

In the opposite ligure :

- - - AD _ 3 . EC _

DX //AC,EY//ABsBC=135cm. 5B = 2 and AE=
213 |’ then XY = ceeeneeeee €M,

(a) 2.1 (b)2.3

(c)24 (d)2.6

In the opposite figure : 1 A

If AD // XY // BC sAX=YC » XB =8 cm. i X,

s DY =2 cm. s then AX = oreevviinne cm. 7‘ X
214 C B

()2 (b)4

(c) 16 (d)8

2021 Exam (8 ) Queslion (23)

In the opposite figure : D A

AE _2 ,FC=6¢em El s B

EB 3 . e-*y \
215 y then DF = ---+seeeeeeee o, ¢ B

(a)4 ()5 (©)6 (d)7

2021 Exam (2 ) Question (34)
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222

| In the opposite figure :
AD = ceerennrioinie. cm.

3 3
(a) 5 7 (b) 6 7
©5 OF

6Gecm.

B Bem. A

2021 Exam (4 ) Question (30)

223

In the opposite figure :
The length Of AD = -rerrereeees
(a)YABxAC-BD xDC
(b) (AB)* + (AC)*~BD x DC
(c) AB+AC-BD xDC
(d)YAB xAC + BD x DC

C D B

2021 Exam (10 ) Question (21)

224

) In the opposite figure :
AD = e cm.

(a)Y60 (b) 6
(c) 7 @12

C 4cm. D 3Iom. B
2021 Exam (2 ) Question (29)

225

In the opposite figure :
If AD bisects Z A yAB=15cm. AC =9 cm.
»CD =6 cm. s then AD = «+veeeveeeee e,

(a) 593 b5 )3

C 6. D n

(d)4
2021 Exam (6 ) Question (36)

226

In the opposite figure :

BD=6cm. sDC=10cm.and AC-AB =6cm.

s then AC = woerverereenees CIIL

(a) 13 (b) 14
(c) 15 (d) 16

A

C 10cm. D 6cm. B

2021 Exam (5 ) Question (17)
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In the opposite figure :
If AD bisects £ A s AC=6cm.
yDC=4cm,»BD=Xcm,sAB=(X+1)cm,
227 sthen X = -cveeeveennnnns
(a)3 (b) 4
(c)2 (d) 1
In the opposite figure :
AABC in whichAB=10cm. sAC=12cm.
, » AD bisects Z A s then BD -weveeeeeee DC
228
(a)> (b) <
- 1
(©) = d 5
In the opposite figure :
_— = CD
IfABL AC sthen g = oeeeeeeeeess
4 4
229 | (a) 3 (b) 3
© 3 @ 2 i0em,
2021 Exam {10 ) Questlion ( 26)
In the opposite figure : R
If the perimeter of the triangle ABC = 28 cm. o Y 2y,
— L 3
230 yAB =12 cm. s AC =9 cm. s AD bisects Z BAC
s then BD X DC = weeeveveneess €m> B 5 .
()9 (b) 12 (c)7 (d) 16
2021 Exam (1) Question (9)
In the opposite figure : :“.
If AD bisects £ A
231 | ,then AB X CD = «eeereerereenes é b >
(a) AC x BD (b) (AD)? (c) AD x BD (d) AC x AB
2021 Exam (10 ) Question (10)
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The diameter of circle M is 6 cm. » P, (B) = zero » then B lies «--wvveees

042 (a) inside the circle. (b) outside the circle.
(c) on the circle. (d) at the center of the circle.
2021 Exam (7 ) Question (17)
If Cis a point in the plane of the circle M and P,, (C) =—8 , then the point C lies «eeeeeees
243 (a) one the circle. (b) inside the circle
(c) outside the circle. (d) on the center of the circle.
2021 Exam (B ) Question (29)
If Py, (A) =r 5 then the point A ligs --------------- the circle.
244 (a) on (b) outside (c) inside (d) on the centre
2021 Exam (9 ) Question (24)
IfTAM=12cm. sr=9cm. swhereAis apoint outside the circle M sthen Py (A)=+weseesecm,
245 | (a)65 (b) 63 (c) 49 (d) 7
2021 Exam (7)) Question (4)
If the distance between a point and the centre of a circle equals 10 cm. and the power of
this point with respect to the circle equals 64 , then the radius length of this circle equals
246 seesees CHL.
(a) 8 (b) 6 ()7 (d)9
2021 Exam (6 ) Question (9)
IfP,, (A)=81and AB is a tangent of the circle M s then AB = --voeevevenee. cm.
247 | (a)18 (b)9 ()6 (d) 36
2021 Exam (1) Question (34)
If M is a circle with diameter length 12 cm. s A is a point in its plane and the power of the
point A with respect to the circle M equals 13 cm. s then MA = «ccevveeeeees cm,
248
(a) 7 (b) 14 (c)3.5 (d)6
2021 Exam (4 ) Question (36)
If A is a point in the plane of circle M and MA = 6 cm. and PM (A)=-13 5 then the area
of the circle M = «ceeennennnas cm? ’ (J’t = %)
249
(a) 154 (b) 44 (c) 144 (d)7

2021 Exam (4 ) Question (38)
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250

In the opposite figure :

AB » AC are two tangents to the circle
ym (£ A) =30° y then y_x_:...............ﬁd § i
(a) 0 (b) 3

(c) % (d)27 ¢

2021 Exam (1) Question(19)

251

In the opposite figure :
AB , AC are two tangents of the circle

»m (£ A)=40° ym (BDC) =4 X°

s then value of X = -veevvnennes °

(a) 110 (b) 55
(c) 25 (d) 50

2021 Exam (9 ) Question(23)

252

In the opposite figure : C A

—— xu
If m (BC) = 120° 5 then X = «eeerveees:® 2 /
(2) 80 (b) 60

(c) 240 (d) 120

2021 Exam (10 ) Question (14)

253

In the opposite figure :

AB > AC are two tangents 1o the circle B
ym (£ ABC) = 50° , then the measure

of the major (BC) = -vvereeevees °

(a) 200 (b) 260 (o
(c) 160 (d) 80

2021 Exam (1) Question (25)
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In the opposite figure :

II'PM (A)=144 yBM =5cm.

254 | ° then AC = «weevevreeeee cm,
(n) 18 (b) 8
(c) 12 (d) 16
In the opposite figure :
| AB is a tangent to the circle at B s DC = 3 cm.
»CA=5 cm. 5 then Py (A) = wwovveenees
255 9
(a) 25 (b) (AB)* -
(c) 40 (d) (AM)* - (AB)®
| In the opposite figure :
ABisa tangent to the circle M at B s m (£ A) =45°
sm (BD) = 150° 5 then m (BC) = -+vereerrseen
256
(a) 120 (b) 90
(c) 60 (d) 180
In the opposite figure :
m (£ A)=21° ythenm (CE) —m (BD) = rvrvevvveernene :
257 (a) 41 (b) 21
(c)42 (d) 44
In the opposite figure :
x: sssssassssaitEe
258 | (a) 30° (b) 60°
(c) 86° (d) 26°

2021 Exam (7 ) Question (8 )
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—Solutions—.

1 | C 21 | D 41 | B 61 | A 81 | B
2 | A 22 [ D 2 | A 62 | C 82 | B
3| C 23 | C a3 | D 63 | B 83 | D
4 | C 24 | B a4 | A 64 | C 84 | D
5 | D 25 | C a5 | C 65 | A 85 | D
6 | A 26 | D a6 | D 66 | C 86 | B
7 | A 27 | A a7 | C 67 | D 87 | D
8 | C 28 | C 48 | B 68 | C 88 | D
9 | C 29 | C 49 | A 69 | C 89 | D
10 | C 30 | C 50 | B 70 | C 9 | C
1 | D 31 | A 51 | C 1| D 91 | B
12 | B 32| C 52 | B 72| D 92 | D
13 | C 33| C 53 | A 73| B 93 | B
14 | A 34 | C 54 | B 74 | A 9 | B
15 | A 35 | B 55 | B 75 | B 95 | D
16 | A 3 | A 56 | C 76 | B 9% | B
17 | D 37 | B 57 | B 7 | A 97 | D
18 | A 38| D 58 | B 78 | A % | B
19 | C 329 (D 59 | D 77 | B 9 | D
20 | B 49 | C 60 | C 80 | A 100 | A
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A 121 | D 141 | C 161 | D 181 A

A 122 | B 142 | B 162 | A 182 | B

C 123 | A 143 | D 163 | A 183 | D

B 124 | A 144 | A 164 | A 184 C

B 125 | D 145 | C 165 | C 185 | C

C 126 | D 146 | C 166 | A 186 | C
107 | C 127 ( D 147 | D 167 | B 187| B
108 | A 128 | D 148 | B 168 | C 188 | A
109 | A 129 | D 149 | A 169 | C 189 | A
110 | B 130 | D 150 [ D 170 D 190 | A
11| C 131 | B 151 | C 171 | A 191 | A
12| D 132 | A 152 | A 172 | D 192 A
13| C 133 | C 153 | C 173 | C 193 | D
14| B 134 | C 154 | D 174 | B 194 C
115 | A 135 | A 155 | C 175 | B 195 | C
16 | B 136 | A 156 | D 176 | C 196 | C
17| A 137 | A 157 | D 177 | C 197 | A
118 | B 138 | A 158 | D 178 | B 198 | C
19| A 139 | B 159 | D 179 | A 199 | D
120 B 140 | A 160 | D 180 | A 20| D
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201 | A 221 | A 241 | B 261 | C
202 | C 222 | A 242 | C 262 | A
203 | C 223 | A 243 | B 263 | C
204 | B 224 | B 244 | B 264 | C
205 | C 225 | A 245 | B 265 | B
206 | B 226 | C 246 | B
207 | C 227 | C 247 | B
208| D 228 | B 248 | A
200 | B 229 | C 249 | A
210 | D 230 | B 250 | C
211 | B 231 | A 251 | B
212 | D 232 | C 252 | B
213 | A 233 | C 253 | B
214 | D 234 | A 254 | B
215 | A 235 | D 255 | C
216 | B 236 | A 256 | C
217 | A 237 | A 257 | C
218 | B 238 | A 258 | C
219 | A 239 | D 259 | C
220 | C 240 | A 260 | D
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